BIHA DR

ROFEE LA I,

(1) 5ax2b

(3) (—3ab)Xc

ROFEE LRI,

(1) 7ax2b

3) (—4a)><%b

ROFEEZ LRI,

(1) (—3z)X2zx

(3) (—=z)?

ROFEE LRI,

(1) 18ab +6a

3) 6a’+(—3a)

ROFEE LB,

(1) 12ab +%a

dy X (—2zx)

(—7z)X(—2zy)

dry X (—8z)

dab X (—2b)

(—3a)’

—12zy +(—3y)

(—1523) =522

—15x2+%x



(6] ROHEE LEI,
(1) 9ab x4b+(—6b2

(3) 4a®=+5bx10b*

ROFEE LRI,
(1) 9ab X 6a +(—18b)

3) (—6a)+<—%ab>><3b

ROFEE LRI,
(1) 9a*xab-+(—3b)

(3) —2a*x6b-+(—4ab)

(5) 12ab X (—2ab?) = (—6a)

) 3ab?xda’ +<—%b 2)

9) (—4z)®x5z'y =(—22)°

(2) 40x3+(—5z)+(—4x)

(4) —5xy?+15z% X 9zy

(2) 12z% +20zy%x5y*

() 2x2y><3xy2+<—%x2y2>

(2) 16z°+(—4zy) X (—y?)
4) 8zxy’+(—12y)X 3z

6) —bry’+10x%?*x2z%?
8) x22X(—3zy):+zy?

2T b (—3prx 2
(10) 2ab.( 3b)><3ab



